Year 9 – IGCSE 1 – Paper 4  May 2014 End of Year Exam Answers
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(i)

@

Opposite angles [cyclic quad] add to
180

68

575

1FT

1FT

M1 for (3 %1802 x110-84) [+2]
or better

FT (180 - their (1)) +2

FT 84 -2 % their (ii) or 2  their (ii)
40, only if positive answer and less
than 84

B2 for 360 -3y = 2(4y+4) oe
and

Bl for 11y=352 oe

or

M for angle at centre =2  angle at
circumference  soi

M for [angle PRS=] 102+3 x 2
and

M for angle POS = angle PRS or
angle PRQ = angle PSQ

M2 for 6.9 x oe

or
M for evidence of ratio of areas =
(ratio of sides)?

orsf
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(ii)

Perpendicular bisector of OR
ruled with 2 correct sets of arcs
centred Qand R

Bisector of angle SPQ ruled with
comrect arcs. (Marks on PS and

PQ and correct pair of arcs)

Compass drawn arc centre R
with radius 6 cm (+2 mm)

Correct region shaded cao
21710221

6360 or 6361 to 6363

165 or 164.9 to 165

BI for correct bisector ruled
BI for correct angle bisector ruled

BI for any compass drawn arc centre R not used
in any construction with no feathering

Dependent on all B4 marks for the correct loci

MI for 7 x 45

2
360

M1 for x2m x 45
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(ii)

(iii)

(b)

4.50r4

-6 1)

1,6

a=1/30e,b=1/2 oc

M2 for a complete correct method
or M1 for one correct step at any stage.

M1 for (x +a)(x +b) where ab =6
ora+b=-7

FT their brackets dep on M1 earned
After MO scored SC1 for 1,6 as answer

BI for 2(3x - 2) +x +2=4x10 oe

and BI for correct multiplication of a bracket
and MI for correct rearrangement of their linear
equation without brackets to ax = b + ¢ +d or
better

BI for any one of

I=a+b+1/60e
8a+4b+2/6 oe
27a+9b+3/6 oe

30 =64a+ 16b+4/6 o
Or any other correct equation
and BI for another of the above equations
and MI for equating one coefficient
or correct rearrangement to give a or b as subject
and M1 for subtracting to eliminate a or b
or correct substitution for their a or their b
Al fora=1/3oeor b=1/2 0e

14
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Correct quadratic curve

Correct exponential curve

BI for each correct value

B2FT for 7 correct points
or
BIFT for 5 or 6 correct points

B2FT for 7 correct points
or
BIFT for 5 or 6 correct points
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(i)

(iii)
[C))

Answer in range 1.2 <x < 1.4

Answer in range 1.2 <x < 1.35

Answer in range 055 <x <0.7

Correct tangent drawn
And answer in range 2.5 <m<-15

Not from a line other than y =4
(x1mm)

BI for correct tangent atx= 0.5

B2 for answer in range dep on close

attempt at tangent

M for [-] 22 used with values soi
un

from tangent, dep on close attempt

at tangent or answer in range

15<m<25

or

SC1 for close attempt at tangent to

exponential curve and answer in the

range 1.6 <m<2.2
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(a) 2814 final answer M1 for 2345 + 5 soi by 469 or ans = 2810

(b) 257.95 final answer M1 for 2345 % 0.11 oe or ans =258

(©) () |280.5[0] final answer

M1 for 330 x (1 -0.15) oe or ans

281

(ii) | 375 3 M2 for 330 + (1 - 0.12) oe
Or M1 for 330 = (100 - 12)% oe
(d) 1605.89 or 1605.9[0] 3 M2 for 1500 x (1 +0.023)’ oe soi by
1605.898751

or 1500 = 1.07(05...)
Or M1 for 1500 x (1+0.023) % oe

25 -2
(e) 23.10r23.07 to 23.08 3 M2 for 3._577_50 * 100 oe

252
Or M1 for % soi by 0.2307... 3sfor

better

250

or 5 * 100 soi by 76.9...









